KROY—=Z2GERE>

RS Bk [mEe [mm lmme |0 TREE
E& = 4 MA198|iT& A 1MA198 | iRH [<12.461
EATVRS 4 MA19R|AZES | 11A198|FHRH [<12497
AHXTA % A19B|AZES | 11H198|F&H |<12.488
E¢=ba 4 MA19R|AZES | 11A198|F#HRH [<12462
AEIE % HA19B /NGRS | 11A198|FiEE |<12.497
2% & HA19B /NGRS | 11198 |F&E |<12.470
> OH4g (HA) & 11B198 ([EE+ 11A198 | H&H |<12.478
AXF 3 A9 (T4 11A198 |FHRH <12.454
RORD 3 1A198 |71k 11A198 [FRE [<12.497
HIA 3 A1 [/MEERH | 11198 |FiRdE |<12.219
TaANL 4 MA198 |mEH+ 11A198 [F&RH [<12.499
FYRANIL & 1MA198 |mAEH+ 11A19B | <12478
vi=syr & MA198 (T4 11A19B | | <12.491
£ & 1A198 |71k 11A198 [F&RH [<12.392
7 & MA19B (T4 11A198 |F&eH <12.304
75 A & AR B2zWAE | 11A198|Fi&E |<12.499
RILAA(RAH) 4 1MA198 |/IVEHF 11A198 [F&RH [<12497




KROY—=Z2GERE>

RS Bk [mEe [mm lmme |0 TREE
ThA<R 4 A198 |/IVEH 1MA198 | iRH [<12.493
FTHIOFAFF & HMA19B[;ZZ2WF | 11A198|FigE |<12.493
vaygF % HA19B[/MNEES | 11H198|FigE |<12.482
viloavs D 4 HMA19B /MRS | 11A198|F#RH [<12.486
2ALA & HA19B /NGRS | 11198 | RE |<12474
BFIF 4 MA198|iT& A+ 11A198 [F&RH [<12.485
JEVHAAN 4 MA198|iT& A+ 11A198 |F#&H <12.408
A¥F<a 4 A9 (T4 11A198 [F&RH [<12.463
ao4A 4 A9 (T4 4 11A198 [F&RH [<12.499
=~ 3 1A198 |71k 11A198 [FREH [<12.462
LiALA d 1A198 |71k 11A198 [F&RH [<12.486
AH= & 1A198 |71k 11A198 [F&RH [<12.499
a4y & 11 AB198 7K+ 11A198 | F&EH [<12.496
<73 & 1A198 |71k 11A19B [F&RH [<12.449
FHA & 1A198 | 71K+ 11A198 [F&RH [<12.499
J3ALA & 1A198 | 71K 11A198 [F&RH [<12492
2hIEA & 1A198 | 71K 11A198 [F&RH [<12.496
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RS Bk [mEe [mm lmme |0 TREE
524 % 11 A198 (7% 11A198 (R [<12423
AMEAFLA % 11 A198 (7% 11A198 | | <12.451
7Y 4 HA19B /MRS | 11A198|F#HRH [<12.493
INNFLA(FAZHLA) | & HA19B /MRS | 11A19B|FHRE [<12471
HAIFA & HA19B /NGRS | 11198 |FRE |<12.494
ThLY 4 HA19B /NGRS | 11198 | RE |<12.498
IVAITAFARr D) |& HA19B /NGRS | 11A198|FiEE |<12.497
Y )A4H 4 NMA19B[/MEESF | 11198 | Tkl |<12.487
SURIA4A 4 MA19B|/MEEAH | 11198 |FidE |<12.459
*F7raw d 1A198 |71k 11A198 [F&RH [<12.357
YFXLVALA 3 11A198 )%k + 11A198|FH&H |<12.461
T LSHTH & 1A198 |71k 11A198 [F&RH [<12.496




